[image: image4.png]





RDMOTO CZECH REPUBLIC


4
info@rdmoto.cz



www.rdmoto.cz


K47S
Kawasaki Z900  2017-
	Left side kit:
	Right side kit:

	
	
	
	
	
	
	
	
	
	

	ID
	Description
	Cat.no.
	Pcs
	
	ID
	Description
	Cat.no.
	Pcs
	

	1
	Adapter moto
	DV-317
	1
	
	1
	Adapter moto
	DV-317
	1
	

	2
	Dural. adapter
	145
	1
	
	2
	Dural. adapter
	145
	1
	

	3
	Bolt M6X25
	877
	3
	
	3
	Bolt M6X25
	877
	3
	

	4
	Bolt M4X16
	876
	2
	
	4
	Bolt M4X16
	876
	2
	

	5
	Bolt M10x120x1,25
	895
	1
	
	5
	Bolt M10x120x1,25
	895
	1
	


Instrutions:
1.) Unscrew original bolt from the frame of motorcycle according to the picture.
2.) Put both adapters ID1 and ID2 on the bolt M10.
3.) Mount this kit on the frame of motorcycle.

4.) Mount slider on the adapter using three bolts M6.

5.) In the end mount coloured cover into slider using two bolts M4.

We recommend to use the glue on all threads.

[image: image1.png]



[image: image2.png]



[image: image3.png]



Illustrative photo








1

